MAT1500-04/06 O4F Test 1 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use
arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL
parts of problem. Keep answers exact (no decimal approximations, if possible). [See long instructions on
reverse].

@ A lake is stodked with 500 fish ;:mc] 'l"n?'nr-_‘zapu\ai{on increases qeecording o the rule
P = fly= 000 ., where t isthe hme measured in dagsmonths,
+19 7% lim @
@ Evaluate the limihing pepulahion 000 . ‘

) 'Express t as a funckion of B and use yourresult to.see \how long thtakes 'FJ\'“‘Fﬂe
ahon +o double to (000 ( Hhnke umits and Sgnificent digits),

fsh VoVul
l r 7
@ f(ﬂ = ) X~5 X €25 Tsthis f}.ﬂd’*cnb CO"TE"“L&WS- onthe enhire rcqlt line ¢
%25 Explain using limit netzhion and symbolicaly
) ' \ t limitg.
Js“ ,  X=2§ eﬁ\m uating any relevant (im

b = 2X~X2, ‘ .
Co'ns‘der e O e s +line o tits graph at X=a ustig the limit definiHon.
a) Find the slope o(—‘--Hne fangent-line ‘ grup . - i M_-B
) Use gou,r‘-rewljr to wr:’e the equahon of the Jangent line at X=3 and simp
it 4o the form y=ax¥sd, o |
©) iUse-l-echnE:\ugy and an aPPmPna\-e window +o graph The funchiin andthis tan geat
ne togever. “Malge @ rough sk Lt labeled Hckmorks) of what you see.
Does trlode mght? Explain,
@ LN = 2x2—Ex+ 4 = Z.._,-—-—-——(E:z)(’;“z) _('l'he.ﬁ‘c’roréol foom of-this mhoha\ﬁ*ﬂchén\ '
y2-Hx2Ha %~ 8 -
ay Whatls the domaw of § 7 Explain.

») Does f have horzontal a.symp\-nl'es? ¥ 5o, wete down and evaluate the

qpmqmi'e Limit or bmits associated with these asy mFl'n'\‘es aryd%en wrtte the a{ua{"ldn

AsYn %, : )

)d\;oes JC aaje vertical asy mpi'o’fes? I‘f so, winte down and evaluate qp\or'opna’re

“ sne-sided limits (ond Hwo sided limids if can e assigned a symbolic value )
symbolicaly pr by reasoning fhat descrbe how £ behaves nearthem, Then

wrte the equehivn of the asgvv\f“v"es. ! .
R@Mch‘ber‘) while g gmr\q or AUMENES rmay be useful vy suggeshing the valuecof thege Umits,

Your evoliahdn 35;‘ the lﬁarL symlbdlically o bﬂ reasoning is intended +v cxqu'm why o see
Jhat-you see w Yedhnslegy _ | .
@ Explain uhy the Totermediale Valuve Thm ¥ gxmv-nn’rees fhat The eq{quhu,\ ﬁx‘) =€ =X=0
hns?q rost (solubisn) on the inferval  0&x &4,

F IV Supposethat £ is (ontintos on the cloged interval [a,b] and lev N be any
number behween £(o) and £(b), where F(a)F £(b), Then there exists a Aumber ©
w (o) sucnthat =N,




